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Fall '05/MAT 150/Worksheet 8 Name: - Show all your work.

1. (5pts) Write as a sum and/or difference of logarithms. Express powers as factors.
Simplify if possible.
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2. (6pts) Write each the following as a single logarithm. Simplify if possible.
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3. (2pts) Compute the following number using your calculator. Show how you obtained
vour number,
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4. (10pts) Solve the equations:
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5. (7pts) A culture of bacteria obeys the law of uninhibited growth. Suppose 500 bacteria
were present initially and there are 1200 after 7 hours.

a) Write the function that the describes the number of bacteria after t hours. What is the
growth rate?

b) When will the bacteria count reach 15,0007
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